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Instructions :

1.
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Choose the correct option :

All questions are compulsory.
Read the instructions of Question paper carefully and write their answer.

Question nos 1 to 5 are objective type and compulsory Each Question carries 5 marks.

Internal options are given in Question nos 6 to 26

- Question Nos 6 to 10 carry 2 marks each. (Word limit is 30 words)

- Question nos 11 to 14 carry 3 marks each. (Word limit 50 to 75 words)

. Question nos 15 to 21 carry 4 marks each (Word limit 100 to 120 words)
. Question nos 22to 26 carry 5 marks each. (Word limit 120 to 150 words)
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1x5=5

1x5=5
(A) which of the following industries air pollution is maximum.

https://www.mpboardonline.com

wod aurjuopieoqdur mmms//:sdny



wod aurjuopieoqdur mmm,//:sdny

https://www.mpboardonline.com

()  Matchsticks industry (ii) Paper industry (iii) Chemical industry (iv) Furni

industry
(B) The British governor general of india in 1857 was
(i) Dalhousic (i) William Bentink (iii) Canning (iv) Rippon
(C) Which of the following is not a specialty of the indian constitution.
(i} Parliamentry form of government (i) Federal government

(iii)Free and impartial judiciary (iv) Unwritten constitution

(D) Who started the prohibition movement against Liquor consumption in the country.

(i) Jawaharlal Nehru .{ii) Mahatma Gandhi (iii) Swami vivekanxand (iv) lalbahadur
Shastri
(E) Employment under national Rural Employment guarantee scheme is mode
available For

(i) 100 Days (ii) 150 days (iii} 200 days (iv) One year

w2 Raw wml & off difkg -~ / 1x5=5
2. B B ARGS.............. B AT O7AT &) aRfI=< al9 /0 a3 &
3. 1971 WRd U1 §g & AMC..........cooee S BT f37F07 B30T 27
uIfdedd /TRy
4. YU W D NBE... T

IRV B L) AV A MR LT L
5. nffe REE & T B TR A gl 8XA 21
e wR ¥ gUR /WGl

Fill In the blanks : 1x5=5
1. The short name of international network is .........................(Internet /Fax) \/
2. The founder of congress is considered to be........................[Arvind Ghosh /A.O.\?(/
3. After the Indo- Pak war of 1971 ................... country was formed. (Pakistap/Bangtadesh)
4. The chairmen of the constituent assembly was ..................... (Dr. Rajend%::ad/or.
Ambedkar)
S. Thestandard of .................. increases by economic development. (Improvement in living
standard/Prosperity)
W03 U%F W AT q199 ¥ IR R — 1x5=5

@) WRa A gh a3 B v 2
@ IoaT vae F1 IRy o

(B) wowew & Rum 99 & 99 9&T 2
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@) “Ra iR 9= gg H9 gl
B vt s wala

Write answer in one word/sentence: 1x5=5
(A) The capital of cotton textile industry of indiais ...................
(B) The objective of the Rowlett Act was .
(C) The number of members of the legislative assembly of madhya pradesh.
(D) The war between india and china was fought.
(E) Name the most flood affected state.
To4 T /3y foRag - 1x5=5

(@) STt ey s 1986 ¥ @R fsar T o)
(@) vEm 1 gfe | wra & Qe ¥ g wE @)
(6) BT =1 Raom R afvdwm A gan o)
(@) ¥ &= aretfaren o gdaw & D ¥
@) W af Ieiem 8 aan

Wirite true of false: Ix5=§
(A) Consumer protection act was implement is the year 1986.
(B) India is first in the world in respect of its total population .
(C) Congress was split in surat session. T
(D) Tertiary sector of economy is also culled service sector.
(E) Every person is not a consumer. F

W05
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5.

A

monw

jgf Gﬁ@ T - 1X5=5
e i — T TR
SR - GREROT
wfurE w1 @ anmyd - QI A
TRAY] Gfierr - 3f. oy
o nfafafet &1 R - TR B (F7Tw9)
Match the column : 1x5=5

Mangal pandey - Jammu and kashmir
Dachigam - Pokhran
The chairman of the constituent assembly - D.D. Sports channal
?ttl)lmc test - Dr. Rajendra prasad

elecasting of sports activetios - Bairack

pur (Bengal)

9 ST T D S g 2 2 3@
What are the sources of underground water?

3rar/ OR
qRA B W T AN TR DREFT B & ?
Which is the biggest iron and steel plant of incia ?
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Qo7 1857 B AT QAW ATHIRTS ®ew amr en ?
What was the immediate cause of freedom struggle of 1857 ?
e/ OR
FSTI Tn 9 Rar omar & ?
Who is paid unempioyment allowance ?
W8  @ma fdrora da Ik F fEw T oen ? 2 3
Why and when was the partition of bengal ?
At/ OR

anfefe Ra&Era &) w93 & Argeve aar & ?

What are the main measurements of measuring economic development

2 any

o9 wRaTamd? 2 U

What is a constitution ?
3H244d1 / OR
SIHEHT ) WG H] puyey ¥ gar @ ?
What is the number of members in loksabha, from madhya pradesh ?

qo10 AR A 7 wEerE] ) 91 & 999 AW faray 2 3t

Neme the missiles made by india ?
341/ OR

FRIER AT BT A4 el g3 o1 ?

vWhere was chandra shekhar azad born ?
o141 wrnfore e Qo @ @ ? 3 3®

What is social forestry scheme ?

aferar / OR
qRATg ST § N @ T FRV A ?
Why were the indian rulers angry with the British rule ?

dewE R g ¥ I ARR & ? 3 P

o What is difference between a dock and a port ?
arerar / OR
wfaqq 3asn =T TAN R @ T RV Q?
What were the reasons of conducting civil disobedience movement ? 3 3i®
w013 on & Ay P adl ¥ w8 7
What do you understand by directive principles of the state policy ?
3re7a1 / OR

sfem R 2020 71 &) fafay 2
What is India vision 2020 ?

w014 foran qarga & sl fafag ? 3 3w
Describe functions of district panchayat

seral / OR
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U B WA B T Iy A ?

What were the objectives of astablishment o' congress ?
TS W B W I g ?

4 3
What are the measures of water conservatior ?
3erar/ OR
W @ IR R I B R uER & 7
In how many types of industries are there on he basis of ownership ?
T} T R 2 4 5@
What is meant by Tsunami ?
3a/ OR
1857 & WUW B WM Wa=en UM J4i Fel wra 2 ?
Why is the struggle of 1857 called the first struggle for freedom
T arfT AR TR Tr1 3 Igdva qaRy 4 3%
State the objectives of the national employment guarantee scheme ?
3rEr / OR
WS I TR TR BN s R o @ Rl ?
What is national income how is it calculated write ?
TTHE g B A% S Jur fafag ? 4 3T
What measures should be adopted to check the growth of population ?
3Jygdi /OR
Al W HTE D argany Rl ?
Write Qualifications of a member of the loksabha ?
wiur @ 71 wew ) fafe ? 4 34F
What is the importance of constitution ?
3@t/ OR
WG & IR SR frfag?
Write four reasons for the spread of communalism ?
TRA IR A9 g @ T oRum T fafay ? ] 4 IH
What were the effects of indo — china war ?
deEr/OR
e e 3 0 Rty URH B T IR2w §
f;:iﬁt:;i‘;“::ﬁ‘:gf;ge British government behind partition of bengal ?
What is the importance of soil in human life explain? v
3941/ OR
e T e SR ST 70 gy & 2
‘1\";:1—3: is iron am;:T stee_i indft:;r::;lqleg wasic industry ? .
Draw a labelled diagram of soil profile o

&3t/ 0R
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JRd 7 I [HoA TeR @ 8 ?
How many types of industries are there in india ? describe

W023 YAATT &1 fAavor yRa d aRyA &) we #fre ?
The distribution of rail routes in india is unequal, explain ?
3141 / OR
fewoft forRav
(@) arar e (W) govd AEd
Write short notes:
(A) Tatya tape (B) Begam Hazarat mahal

4 3ol @ el v @ Ay A wweda FER SEPT B DA wafda fhar ?
/ How were the cottage industries affected by the British policy of economic
exploitation ?
3rerar / OR
BRYe MY &1 74T I AT ? 8 Iqevdl A BEl TP HHA I ?
What was the objective of the cabinet mission to what extent it succeeded in its
mission ? |
025 1965 @ R Uifb<a g& @ Rvi fafag ? 5 3F
Write the effects of indo-pak war of 1965 ?
3rerar / OR
adia G %) Rl &1 a0 B ?
Cescribe the special characteristics of indian constitution ?
e 3 RTT B X B B U] BT AT PHRAC 2 |
What measures should be adopted to remove unemployment in india ? 5 3%
arerar/ OR
Prafafiaa Aad TRl B T I 8g m%—cr g1y ?
(1)W(z)aﬁm(3J§6W(4)tﬂ?W‘ﬂ?(5)W N
Draw symbol/signs to show the fcllowing weather condltr?ns
(i) Drizzle (i) Haill (i) mist  (iv) Steady breeze (v) Gide

o) -

Y026
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